182769 (e]H=3 (=411l=]3F]

07-15 JK ROOF RACK EXTENSION KIT IFABRIGATGIENS|

THIS KIT MUST BE INSTALLED WITH

1. DRIVER SIDE BAR THE FOLLOWING OCF PRODUCTS

g. EAR%EEJB%%E SIDE BAR 130717 OR 131894 ROOF RACK KIT
: AND182746 OR 182740

4. KNOB [2 PCS

5 Eng v[arASHELés pCS) WINDSHIELD LIGHT BAR KIT

6. 5/1&"NUT [2 PCS]

7. 5/16"BOLT [4 PCS]

PLEASE READ BEFORE STARTING INSTALLATION

While MERP Inc. has made every effort to ensure that all components of this kit are of
superior quality and properly packaged, it is the installer's responsibility to ensure the
following before starting:

that ALL components shown above are present.

that ALL mating components fit together.

that there are no damaged componants,

that the kit vou have purchased is appropriate for your year and model of vehicle.
that the kit will not interfere with any modifications previously installed or planned.
that you have read and understand these instructions.

® & & & & @&

If you have any questions or are uncertain about t:m¥ aspect of the installation of this
kit on your vehicle please contact your dedler betore commencing installation.

182749 (© 0215 PAGE 1 OF 2




EABRIEA TIENE
b MG

1. Remove the top bolt from the driver side light bracket on
the windshield upright. Install the Driver Side Bar behind
the windshield upright and loosely secure with the
previously removed bolt.

Refer to Figure 1.

2. Install a 5/16 Bolt and Washer through the rear bracket of
Flgure 1 the Driver Side Bar and thread it into the Roof Rack.
Refer to Figure 2.

3. Install a 5/16” Bolt and Washer through the hole in the side
of the windshield upright and secure it with a Washer, and
a 5/16” Nut. Tighten all hardware.
Refer to Figure 3.

4. Repeat steps 1 through 3 to install the Passenger Side Bar.
5. Install the Crossbar and secure it with the supplied Knobs

and Washers.
Figure 2 Refer to Figure 4.

Figure 3

Congratulations! You’re finished! We are sure that you will
enjoy this Off Camiber Fabrieations product by MPEP inc.

182769© 02/15 PAGE 2 OF 2



